Product Name: TWM222
Art number: 402251 T ECHLINK

D =D = 00000
g —

o

[T

> D =>OOOOO[

[

m
—J
(=
.}
) ©T—1

[

—
—

TECHLINK , A Division Of Tapehand Ltd. C—= (UK)Free Phone 0800 634 2699
Units 7 and 8 Bat and Ball Enterprise Centre (US)Toll Free (844) 499-1159

Bat and Ball Road
Sevenoaks spares@techlink.uk.com

Kent
United Kingdom www.techlink.uk.com

TN14 5L Web www.recharge.uk.com

TWM222 REV6




EW




= (9 ®
. U
@ (Jmmm x4 \/ & 5 — ﬂ
<< [T-A] =
D——
Main Parts
-
=
[B] x 1
[S-A] x 4
| D o x
[W-C] x 4
‘)|\\\1\\\\\mnnmmnnnmnmnmm\mmmmmnnmm (M4 X 45)
Package M
or new samsun s use the longer S-A screw together wi é)mﬁm ‘ mmiﬁm e rﬂfﬂmﬂ @ /
W A ::he Samssung waIIg r:nrgunt ad;hptelr p?ovi(?eg with th:—; '?’Vth " @m @
‘ [M-A] x 4 [M-B] x 4 [M-C] x 4 [M-D] x 4
(M4 X 14) (M5 X 14) (M6 X 14) (M8 X 20) [M-E] x 4 [M-F]x 8
="
7
O
— O
G
o O




|
Iﬂ 4 .5mm
(2 3/16") .

? | — 1 60mm
(\ _f((,\z.zﬂ | (\4_((\24,,) l
’/ l I ' kﬂ‘gﬂg? D—— I?;g/rg?;

A > x4

=5 x4
CRO

@X4




